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(A) Free rides boost Kaohsiung

MRT traffic by 10 percent
(Taipei Times, 12/2/2017)
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According to Taipei Times 12/2/2017

* "The number of passengers who took the
Kaohsiung Mass Rapid Transit (MRT) during
morning peak hours rose more than 10 percent
yesterday, the first day the city provided free
public transport in an effort to combat air
poIIutlon data released by Kaohsiung Rapid

"ransit Corp showed.

* The data showed that the number of passengers
taking the Kaohsiung Metro from 6:30am to

8:30am totaled 26,970—up 3,072 or about 13
percent from the same period on Friday last week.

1/12/2018 Joseph Tao-yi Wang Economics in the News



Answer the Following Questions

1. What is the number of passengers taking the
Kaohsiung MRT from 6:30am to 8:30am on
Friday the week before rides were free?

* 26,970 - 3,072 = 23,898 people rode last Friday

* Use the midpoint method to calculate the
nercentage change in quantity demanded for
Kaohsiung MRT. Is it "about 13 percent"?

+ Midpoint = (23,898 + 26,970)/2 = 25,434
. AQY%) = 3,072/25,434 x 100% = 12.08%
(Slightly <13% due to non-midpoint calculation)
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Answer the Following Questions

2. Use the midpoint method to calculate the
nercentage change in price due to this new
nolicy. Do you need to know what the
original price to make such calculations?

* AP(%) = (P-0)/ [(P4+0)/2] = 200%
3. What is the price elasticity for Kaohsiung
MRT? Is the demand elastic or inelastic?

. £ =AQU%) / AP(%)= 12.08/200 = 0.0604

— Almost perfectly inelastic!
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According to BRI 12/2/2017
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Answer the Following Questions

4. What is the number of passengers taking
the Kaohsiung MRT during rush hours on
Monday the week before rides were free?

* 69,559 - 12,109 = 57450 people rode the
ast Monday before rides were free

* Use the midpoint method to calculate the
percentage change in quantity demanded
and the price elasticity for Kaohsiung MRT.
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Answer the Following Questions

* AQY%) = 12,109 / [69,559+ 57,450)/2]
= 19.07%

* AP(%) = (P-0)/ [(P4+0)/2] = 200%
— True for any P

* e =AQY%) /AP(%) = 19.06% / 200%

= 0.095
* |s the demand elastic or inelastic?
* Again Inelastic!!
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Answer the Following Questions

5. The news articles deem this policy as a
success. Do you agree or disagree?

* Open question, but with near-zero elasticity,
the cost is much larger than the benefit.

6. How would this policy affect the MPL for
delivery workers based in Kaohsiung?

* More MRT use => less street traffic
* Delivery speeds up, so MPL increases
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Answer the Following Questions

* How would this affect their wages?
* [Increase MPL => Increase W = VMPL

* Would your answer change if this were
implemented in the LR instead of the SR?

* LR elasticity larger

»more people take MRT
»MPL increases further
»W=VMPL increases morel
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Answer the Following Questions

7. On
— Chi

will
and

Dec. 27, 2017, Taiwan News reported:
dren 6-12 who reside in New Taipei City

ve eligible for 50% discounts on the MRT
buses starting early in 2018.

* What would happen after New Taipei kids
receive 50% discounts on MRT fares?

* Open
more

question; little even if children are
price sensitive (w/ near-zero elasticity)

— Could be worse if they need adult accompany
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Answer the Following Questions

8. Why are metropolitan mayors coming up
with these policies?
— Hint: What is coming up this year?
* This is an open question, but the

metropolitan mayoral elections (71&R¥EE2)
are indeed coming up in 2018.

* Hence, policies catering to voters are very
popular now...
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According to Economics Dail
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Answer the Following Questions

1. Family Mart and 7-11 are two largest
convenient store chains in the market.

* First assume Family Mart is a perfect
substitute of 7-11. Which market structure
hest describes this market?

* Duopoly = Two big firms in a market with
nomogeneous products

* Oligopoly: more than two chains in the
convenient store market, e.g. OK, Hi-Life,...
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Answer the Following Questions

2. Consider a game played between 7-11 and
Family Mart near National Daiwan Univ.

* Suppose total revenue of convenient stores is
about 100 million per year.

* It they both don't open high-tech stores by
the end of 2018, revenue is split equally.

* If only one opens, that chain earns 70 million
(while the other earns 30 million).

* If both opens, revenue is split equally.
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Answer the Following Questions

* Opening a high-tech store by the end of 2018
costs 10 million. Draw the payoff matrix of
the game assuming no other operation cost.

* Both Not Open:

— Split 50-50 C7)-11 7-11
pen
* Both Open: v
_ (50-10)-(50-10)
* One Open: F-Mart 5 60 50 50

Doesn't

— (70-10) vs. 30
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Answer the Following Questions

3. What is the dominant strategy of this
game (if there is one)?

* Dominant Strategy: Open (for both)

* What is the \ 4 ) 4

Nash equilibrium? Open Doesn't Open

* Nash: F-Mart

—(Open, Open)”  Open
F-Mart
Doesn't

40, 40 60, 30

(@)

30, 50, 50
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According to Economics Dail
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Answer the Following Questions

4. According to the news article, 7-11 and
Family Mart initially planned to open high-
tech stores by the end of 2018, but now
have another option: speed up and open
the high-tech store by June.

— Suppose speeding up and opening by June
costs 15 million; if one opens earlier (by June),
but the other opens late (by the end of 2018),

—the earlier one earns 65 million (while the other
earns 35 million).
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Answer the Following Questions

* Draw the new payoff matrix of this modified
game. Payoff Matrix to be filled is:

Speed-up vs. Not: TR ZIEE 2T

—(70-15) - 30 Speed up Open Doesn t
""l\\\\]ym""m}unnm““umnmm T

Speed-up vs. Open: HNHIH!HMN i)
—(65-15) vs. (35-10)

Both Speed-up:
—(50-15) vs. (50-1
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Answer the Following Questions

5. What is the dominant strategy of this
game (if there is one)?

* Dominant Strategy: 11 711 711
—None Speed-up Open  Doesn't

*Whatisthe mpgllfl 4 218 5 2
Nash Equil.?

* Nash:

— (Speed-up, gy M 30 55 30,60 50, 50
Speed-up

25,50 40,40 60, 30
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Answer the Following Questions

6. Now suppose 7-11 and Family Mart are
merely partial substitutes of each other.
Which market structure best describes this
convenience stores market?

* Monopolistic competition

* How would each store chain determine their
quantity and price under this market
structure? Draw a diagram and explain.
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Answer the Following Questions

* Choose quantity at MR=MC
* Go up demand (AR) to determine Price

$

Ps

ACs

Source: Wikipedia

o] Qs Output
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Answer the Following Questions

7. Assume there is little barrier of entry.
Draw a graph and illustrate the long run
equilibrium of this market. What is the
long-run economic proﬂt for 7-11 and
Family Mart?

* Entry/exit occurs until
* ATC tangent to D=AR |
» Zero economic profit

LRMC
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Answer the Following Questions

8. Suppose each Al server costs NT$500k +
maintenance costs NT$10k/month, but one
Al server can do twice the work of a human

staff, whose salary is NT$25k/month.

* Would you replace the human workers with
Al servers? How does your decision depend
on timing (SR vs. LR) or economies of scale?

* Bonus open question
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Answer the Following Questions

* Can you use this to explain why only 7-11
and Family Mart want to introduce
unmanned stores, but not other convenient
store chains in Taiwan?

* Open question, but this is likely because of
economies of scale adopting Al technology
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(C) Student Collusion in Professor
J's Exam Question Contests

Chunghwa Keeps Low-cost 4G Plan

in Blow to Peers

(Lisa Wang,

alpel

imes, 2017/3/2)
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From Classroom to Telecomm Market...

* Professor Joseph hosts an exam question
contest, asking students to form groups to
propose questions for the final exam.

* The group who proposed the best question
will be rewarded with having their question
appear in the exam.

* This gives the winning group an advantage
to boost their grades, while other groups
struggle to answer proposed tough question
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From Classroom to Telecomm Market...

* Before the contest, students call for a
meeting to discuss the possibility of all
submitting simple questions so everybody
gets good grades easily.

1. Consider this game where each group has
two strategies:

* Submit an easy (but crappy) question vs.
* Submit tough (but brilliant) question.
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* Is there a dominant strategy
* Selecting a tough question is
* If other groups submit easy ¢

* Your group will get selected
tough questions (and gain a
know the answer)

* If other groups submit tough

for each group?
dominant:
uestions,

oy submitting

ot since you

questions,

* Your group should submit an equally tough

question (so you have a shot

being selected)
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Answer the Following Questions

2. Suppose all groups agree to submit easy
questions. Would each group renegade
from the agreement if they wanted to

maximize their

grades? Why or why not?

* Since it is dominant to submit tough
questions, agreeing not makes no difference:

* You gain following your dominant strategy

* What is the Nas
* Nash = All grou

n equilibrium of the game?

ns submit tough questions
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Answer the Following Questions
3. Suppose one group decides to submit their
question first and announces that it was a
simple question. Assuming a non-
verifiable announcement, would other
groups follow suit if they wanted to
maximize their grades?’

* Submit tough question is dominant; seeing
a leader submit easy question is useless:
— Can gain following the dominant strategy

— So others will not follow suit
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Answer the Following Questions

4. Now assume the TA receives the first

question and confirms that an easy
question was just submitted.

* Would other groups follow suit if they
wanted to maximize their grades?

— Confirmed leader action is still insufficient to
break dominance! (Even sequentially)

e What if the TA wofld confirm whether each

question submitjéd sequentially was also an
easy question?’
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Answer the Following Questions

5. Suppose Professor J decides to host two
contests, one for the midterm and another
for the final exam. Would this increase
the possibility of student collusion? Why
or why not?

* The outcome in the final exam (2"¢ stage)
contest is the same as the 1-shot contest

* Anticipating that, outcome of the midterm
exam (1t stage) contest is also the same!
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Answer the Following Questions

6. How would your answers to the above
questions change if some students care not
only about maximizing their own grades?

— If others have other-regarding preferences,
they may not follow their dominant strategy

* But if you don’t other-regarding preferences,
you will still follow the dominant strategy
regardless of what others are doing!

7. How can your answer to the above
questions apply to the following article?

1/12/2018 Joseph Tao-yi Wang Economics in the News



Chunghwa keeps low-cost 4G plan in blow to peers
* Chunghwa Telecom Co (FREE(E), the

nation's largest telecom, for the second
time extended its lowest flat-rate
subscription plan for 4G services, dashing
its peers’ hopes of an end to a price war.

* The telecom yesterday said that its
NT$699 plan for unlimited 4G data usage
would still be available until March 15.

* The plan was originally set to expire on
Tuesday... (Lisa Wang, Taipei Times, 2017/3/2)
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to Taiwan Telecomm Market

* The company’'s moves came amid
persistent calls from local peers to cancel
the cut-rate tariffs, with the firms saying
that flat rates are cramping profits and the
price war has become irrational.

* The nation's top three telecoms launched
low-price subscription plans about three
years ago in a bid to stimulate the adoption
of 4G, but they have struggled to phase
them out due to stiff market competition.
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to Taiwan Telecomm Market

* To counter pricing competition from
Chunghwa Telecom, Far EasTone
Telecommunications Co (=ZEE(S, FET),

* the nation’'s No. 3 telecom, yesterday said
it would resume its cheapest flat rate plan
for unlimited 4G data usage today.

* FET charges subscribers NT$698 per
month for unlimited 4G Internet access.

* FET scrapped the rate as planned on Feb.
22, and unveiled a substitute plan...
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to Taiwan Telecomm Market

* "In response to market conditions and to
cater to consumers’ needs, FET is to
relaunch the NT$698 rate plan," FET said

in a statement yesterday.

* Taiwan Mobile Co (& KX&X), the
nation's No. 2 telecom, said early last
month that it was looking at scrapping its
lowest NT$700 per month 4G subscription
plan last month, but it has yet to announce
its cancelation.
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to Taiwan Telecomm Market

7. How can your answer to the above
questions apply to the following article?

* This is an open question. But the same
prisoner’'s dilemma occurs in both cases.

—As evident in the article, no telecomm
company wants to drop their low-cost 4G plan

—Just like none wants to submit easy question

—See also: EEEENIZEIEEFIFEAE NCC: B2
B (E39€$I, 2017/12/28)
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(D) Uber Externality

"Your Uber Car Creates Congestion.
Should You Pay a Fee to Ride?"

By Winnie Hu (NY Times, 2017/12/26)
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According to New York Times (2017

* An explosion of ride-hailing app services has
transformed the way that people get around

the city anc
traffic craw

is choking the streets. Midtown
s at an average of 4.7 miles per

hour from 6.5 miles per hour five years ago...

* About 103,000 for-hire vehicles operate in the
city, more than double the roughly 47,000 in
2013, according to the Taxi and Limousine
Commission.
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According to New York Times (2017

* Of those, 68,000 are affiliated with ride-hailing
app companies, including 65,000 with Uber
alone, though they may also provide rides for
others. In contrast, yellow taxis are capped by
city law at just under 13,600.

* Now a new report finds that ride-hailing cars
are often driving on the city's busiest streets
with no passengers—in effect, creating
congestion without any benefits.
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According to New York Times (2017

* The report by Bruce Schaller, a former city
transportation official, found that more than
a third of ride-hailing cars and yellow taxis
are empty at any given time during weekdays
in Manhattan's main business district.

* The ride-hailing cars average 11 minutes of
unoccupied time—compared with 8 minutes
for yellow taxis—in between dropping off one
passenger and picking up another, according
to the report...
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According to New York Times (2017

* New York City is considering a new fee on
for-hire vehicles at a time when the state-
controlled MTA is in dire need of money to
overhaul the city's decrepit subway system.

* Advocates say it would be easier to push
through the State Legislature than tolls on
the East River bridges and already has a
precedent: a 50-cent surcharge on cab rides
that goes to the MTA.
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According to New York Times (2017

* The ride-hailing services are not subject to
that surcharge, but collect state and local
sales taxes on each ride...

* Alix Anfang, an Uber spokeswoman, said
simply adding a fee would not address an
already unfair fee system in which Uber
riders pay more in sales tax than taxi riders
pay with the 50-cent MTA fee.
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According to New York Times (2017

* The minimum fare for an individual Uber
ride in NYC is $8, which amounts to a sales
tax of 71 cents...

— "The existing ride-hailing tax unfairly burdens
outer borough New Yorkers who pay far more
In taxes per trip than Manhattan taxi riders,
which is why Uber believes a new transit tax
system should fully fund mass transit by setting
fees based on how crowded the roads are, not
the type of vehicle people are traveling in..."
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Answer the Following Questions

1. Assume riders care only about getting to
their destination quickly, but the number of
yellow taxis are limited by law.

* Which market structure best describes the
market before ride-hailing apps?

* Since each taxi could differ in speed, etc.,
this is closest to monopolistic competition

— Draw a diagram to discuss the effect for such
governmental regulation on the taxi market.
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Answer the Following Questions

* Choose quantity at MR=MC
* Go up demand (AR) to determine Price

$

Ps

ACs

ouput  SOUrce: Wikipedia

1/12/2018 Joseph Tao-yi Wang Economics in the News



Answer the Following Questions

2. Now NYC has plenty of drivers who would
respond to each ride-hailing app. Which
market structure best describes this for-
hire vehicle market? (perfect competition!)

* How would drivers behave in this market?

* They are price-takers and can only accept or
reject the price given by Uber, Lyft, etc.

* What is the individual supply curve for each
driver? Their MC curve (above AVC(C)!
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Answer the Following Questions...

3. Assume there is little barrier of driver
entry.

* Is the long-run (market) supply curve flat?
Why or why not?

* Even if firms have identical costs, there is
still congestion. Hence, their costs would
change as other firms enter the market!

* So, the LR supply curve is upward sloping.
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Answer the Following Questions...

4. Suppose all Uber drivers a
the road for 5 minutes wh

gree to stay off
en unoccupied.

Would the drivers renegade from this

agreement? Why or why

not?

* If Uber drivers collectively stay off the road,

this could create a supply s

hortage and

trigger the surge price mechanism Uber has.

* But, the same prisoner's di

€MmMma OCCUrsS

here and some driver woulc

likely renegade!
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Answer the Following Questions...

5. Are ride-hailing services currently paying
the 50-cent MTA fee? What is the % of

sales tax they are paying? Explain why
they think the current fee system is unfair.

* Instead of 50-cent MTA fees, Uber pays
>$0.71 for each ride (>$8.00)

* The sales tax rate is $0.71/%$8 = 8.875%

* Uber pays higher taxes (>%$0.71) than cabs
(who pay $0.50 MTA fees but not sales tax)
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Answer the Following Questions...

6. What is the effect of imposing a universal
surcharge on all rides? Draw a graph and
explain.

* The MC (and hence individual supply
curves) would shift up parallel to old MC.

— (Graph omitted)
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